Home Work # 2                                                                                                 SCI 1300                                     


Surprisingly enough, all snow tree crickets chirp at essentially the same rate if they are at the same temperature; even more surprising, the relation between temperature T (in degrees Fahrenheit) and chirp rate C (in chirps per minute) is essentially linear:

	T
	C

	50
	40

	60
	80

	70
	120

	80
	160


(1) Graph the data above. 
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(2) Since the data table is linear, we can write down an equation for the resulting line in the form

C = m T + b.

Find m and b.

(3) At what temperature do snow tree crickets start to chirp?

(4) If you had snow tree crickets in your backyard, you could measure the outside temperature by measuring their chirp rate. If the chirp rate is 70 chirps per minute, what is the outside temperature?

(5) Find an equation computing the temperature for a given chirp rate!
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